

# Differential Equations Using The Laplace Transform Solve $Mx'' + Cx' + Kx = 0$ , $X(0) = A$ , $X'(0) = B$ Where

**Differential Equations Using The Laplace Transform to Solve  $Mx'' + Cx' + Kx = 0$ ,  $X(0) = A$ ,  $X'(0) = B$  Where**

---

## Introduction

Differential equations are fundamental in modeling a wide array of phenomena across engineering, physics, economics, biology, and many other scientific disciplines. They describe how a quantity changes with respect to another variable, often time, and are essential for understanding dynamic systems. Among the various methods available to solve differential equations, the Laplace Transform stands out for its effectiveness, especially in handling linear ordinary differential equations with constant coefficients and initial conditions.

This article explores how to use the Laplace Transform to solve the second-order linear differential equation of the form:

$$Mx'' + Cx' + Kx = 0$$

with initial conditions:

$$X(0) = A, \quad X'(0) = B$$

where  $M$ ,  $C$ , and  $K$  are constants representing physical parameters such as mass, damping coefficient, and stiffness in mechanical systems, respectively. This type of equation commonly appears in the analysis of damped harmonic oscillators, RLC circuits, and other physical models.

We will provide a detailed step-by-step approach to applying the Laplace Transform, converting the differential equation into an algebraic equation, solving for the transformed variable, and finally applying the inverse Laplace Transform to obtain the solution in the time domain.

---

## Understanding the Differential Equation

### The Standard Form

The differential equation:

\$\$

$$Mx'' + Cx' + Kx = 0$$

\$\$

represents a second-order linear homogeneous differential equation with constant coefficients. Here:

- $(M)$  is typically the mass in mechanical systems or inductance in electrical circuits.
- $(C)$  is the damping coefficient, representing resistive or damping forces.
- $(K)$  is the stiffness or restoring force coefficient.

Initial conditions:

- $(X(0) = A)$  is the initial displacement or state.
- $(X'(0) = B)$  is the initial velocity or rate of change.

---

### Step-by-Step Solution Using the Laplace Transform

#### Step 1: Apply the Laplace Transform

Recall the Laplace Transform of derivatives:

- $\mathcal{L}\{x'(t)\} = sX(s) - x(0)$
- $\mathcal{L}\{x''(t)\} = s^2X(s) - sx(0) - x'(0)$

Applying the Laplace Transform to each term:

$$M[s^2X(s) - sA - B] + C[sX(s) - A] + KX(s) = 0$$

#### Step 2: Rearrange the Equation

Group the terms involving  $(X(s))$ :

$$Ms^2X(s) - MsA - MB + CsX(s) - CA + KX(s) = 0$$

Bring all  $(X(s))$  terms to one side:

$$[Ms^2 + Cs + K]X(s) = MsA + MB + CA$$

#### Step 3: Solve for $(X(s))$

$$X(s) = \frac{MsA + MB + CA}{Ms^2 + Cs + K}$$

\]

This algebraic expression is the Laplace Transform of the solution  $x(t)$ .

---

### Analyzing the Characteristic Equation

The denominator  $M s^2 + C s + K$  is the characteristic polynomial. The roots of this polynomial determine the nature of the solution:

$$M s^2 + C s + K = 0$$

which has solutions:

$$s_{1,2} = \frac{-C \pm \sqrt{C^2 - 4 M K}}{2 M}$$

Depending on the discriminant  $D = C^2 - 4 M K$ , the system exhibits different behaviors:

- Overdamped:  $D > 0$ , two real distinct roots.
- Critically damped:  $D = 0$ , one real repeated root.
- Underdamped:  $D < 0$ , complex conjugate roots.

---

### Step 4: Inverse Laplace Transform

The final step involves applying the inverse Laplace Transform to  $X(s)$  to find  $x(t)$ .

#### Case 1: Distinct Real Roots (Overdamped)

Express  $X(s)$  as partial fractions and use standard inverse transforms.

#### Case 2: Repeated Roots (Critically Damped)

Simplify the expression and apply inverse transforms accordingly.

#### Case 3: Complex Roots (Underdamped)

Express  $X(s)$  in terms of complex conjugate roots and apply inverse transforms to sinusoidal functions.

---

### Practical Example

Suppose:

$$\begin{aligned} & \backslash \\ M = 1, \quad C = 3, \quad K = 2 \\ & \backslash \end{aligned}$$

with initial conditions:

$$\begin{aligned} & \backslash \\ A = 1, \quad B = 0 \\ & \backslash \end{aligned}$$

Step 1: Find the characteristic roots:

$$\begin{aligned} & \backslash \\ s_{1,2} = \frac{-3 \pm \sqrt{9 - 8}}{2} = \frac{-3 \pm 1}{2} \\ & \backslash \end{aligned}$$

$$\begin{aligned} - \quad (s_1 = -1) \\ - \quad (s_2 = -2) \end{aligned}$$

Since roots are real and distinct, the general solution is:

$$\begin{aligned} & \backslash \\ x(t) = C_1 e^{-t} + C_2 e^{-2t} \\ & \backslash \end{aligned}$$

Use initial conditions to solve for constants  $(C_1)$  and  $(C_2)$ .

---

Applying Initial Conditions

Calculate  $(x(0))$ :

$$\begin{aligned} & \backslash \\ x(0) = C_1 + C_2 = A = 1 \\ & \backslash \end{aligned}$$

Calculate  $(x'(t))$ :

$$\begin{aligned} & \backslash \\ x'(t) = -C_1 e^{-t} - 2C_2 e^{-2t} \\ & \backslash \end{aligned}$$

At  $(t=0)$ :

$$\begin{aligned} & \backslash \\ x'(0) = -C_1 - 2C_2 = B = 0 \\ & \backslash \end{aligned}$$

Solve the system:

```

\l
\begin{cases}
C_1 + C_2 = 1 \\
-C_1 - 2 C_2 = 0
\end{cases}
\l

```

From the second:

```

\l
-C_1 = 2 C_2 \Rightarrow C_1 = - 2 C_2
\l

```

Substitute into the first:

```

\l
- 2 C_2 + C_2 = 1 \Rightarrow - C_2 = 1 \Rightarrow C_2 = -1
\l

```

Then:

```

\l
C_1 = - 2 \times (-1) = 2
\l

```

Final solution:

```

\l
x(t) = 2 e^{-t} - e^{-2t}
\l

```

---

## Conclusion

Using the Laplace Transform to solve second-order linear differential equations with initial conditions provides a straightforward and systematic method, particularly useful for equations with constant coefficients. This approach transforms the differential equation into an algebraic one, simplifies the process of incorporating initial conditions, and leverages the properties of the Laplace Transform to handle complex initial value problems efficiently.

The method's versatility extends to non-homogeneous equations, systems with forcing functions, and even partial differential equations, making it a crucial tool in an engineer's or scientist's mathematical toolkit.

---

## Benefits of Using the Laplace Transform

- Simplifies differential equations into algebraic equations.
- Easily incorporates initial conditions.

- Facilitates solving complex systems with damping, forcing functions, or inputs.
- Provides insight into system behavior through the poles and zeros of  $X(s)$ .

---

## Final Thoughts

Mastering the application of the Laplace Transform to solve second-order differential equations like  $Mx'' + Cx' + Kx = 0$  enhances one's ability to analyze and interpret the behavior of physical systems. Whether dealing with mechanical oscillators, electrical circuits, or other dynamic models, this technique simplifies the solution process and offers valuable insights into the stability and response characteristics of systems.

---

## Additional Resources

- "Differential Equations and Boundary Value Problems" by C. Henry Edwards and David E. Penney.
- Online calculators and software tools like MATLAB, Mathematica, or WolframAlpha for symbolic Laplace Transform computations.
- Tutorials on partial fraction decomposition for inverse Laplace Transforms.

---

Keywords: Differential equations, Laplace Transform, second-order differential equations, initial conditions, damping, oscillations, mechanical systems, electrical circuits, algebraic equations, inverse Laplace transform, system response, stability

## Frequently Asked Questions

### How do you apply the Laplace Transform to solve the differential equation $Mx'' + Cx' + Kx = 0$ with initial conditions $X(0) = A$ and $X'(0) = B$ ?

First, take the Laplace Transform of each term in the differential equation, using the properties for derivatives:  $L\{x''\} = s^2X(s) - sA - B$ ,  $L\{x'\} = sX(s) - A$ , and  $L\{x\} = X(s)$ . Substituting these into the equation yields:  $M(s^2X(s) - sA - B) + C(sX(s) - A) + KX(s) = 0$ . Solve for  $X(s)$  and then find the inverse Laplace Transform to obtain  $x(t)$ .

### What is the general solution of the differential equation $Mx'' + Cx' + Kx = 0$ using Laplace Transform methods?

The general solution involves finding the roots of the characteristic equation  $Mr^2 + Cr + K = 0$ . Depending on the roots (real and distinct, real and repeated, or complex conjugates), the solution will take different forms. The Laplace Transform approach simplifies solving for the particular solution, incorporating initial conditions directly into  $X(s)$ , which then yields  $x(t)$  upon inverse transformation.

## How do initial conditions $X(0) = A$ and $X'(0) = B$ influence the Laplace Transform solution of the differential equation?

Initial conditions are incorporated into the transformed equation through the properties  $L\{x'\}$  and  $L\{x''\}$ . Specifically, these conditions determine the constants when solving for  $X(s)$ . They ensure the inverse Laplace Transform accurately reflects the initial state of the system, leading to a unique solution for  $x(t)$ .

## What are the advantages of using Laplace Transforms to solve second-order differential equations like $Mx'' + Cx' + Kx = 0$ ?

Laplace Transforms convert differential equations into algebraic equations in the  $s$ -domain, simplifying the process of solving with given initial conditions. This method handles complex initial conditions easily and is particularly effective for equations with nonhomogeneous terms or forcing functions, although in this homogeneous case, it provides a straightforward solution approach.

## Can the Laplace Transform method be used to solve nonhomogeneous differential equations of the form $Mx'' + Cx' + Kx = F(t)$ ?

Yes, the Laplace Transform method can be extended to nonhomogeneous equations. In such cases, after taking the Laplace Transform of the entire equation, the nonhomogeneous term  $F(t)$  transforms into  $F(s)$ . The algebraic equation in  $X(s)$  can then be solved, and the inverse Laplace Transform applied to find the particular and homogeneous solution combined, satisfying initial conditions.

## Additional Resources

Differential Equations Using The Laplace Transform: Solve  $Mx'' + Cx' + Kx = 0$ , with Initial Conditions  $X(0) = A$ ,  $X'(0) = B$

When exploring the world of differential equations, one of the most powerful techniques for solving linear ordinary differential equations with constant coefficients is the Laplace transform. This method transforms differential equations into algebraic equations, simplifying the process of finding solutions, especially when initial conditions are involved. In this comprehensive guide, we will delve into how to solve the second-order linear differential equation

$$[ Mx'' + Cx' + Kx = 0 ]$$

with initial conditions

$$[ X(0) = A, \quad X'(0) = B, ]$$

using the Laplace transform. This approach not only streamlines the solution process but also provides deeper insights into the system's behavior, making it indispensable for engineers, mathematicians, and scientists alike.

---

## Understanding the Differential Equation

Before applying the Laplace transform, it's essential to understand the structure of the differential equation:

$$Mx'' + Cx' + Kx = 0$$

- $M, C, K$  are constants representing system parameters:
- Mass ( $M$ ): Typically associated with inertia or mass in mechanical systems.
- Damping coefficient ( $C$ ): Represents damping or resistance.
- Stiffness ( $K$ ): Related to restoring forces, such as springs or elastic elements.
- $x(t)$ : The unknown function of time, representing displacement, voltage, or other physical quantities depending on context.
- Initial conditions:  $x(0) = A$  and  $x'(0) = B$ , specify the system's state at  $t = 0$ .

---

### Step 1: Applying the Laplace Transform

The key idea behind using the Laplace transform is converting derivatives into algebraic expressions involving the Laplace variable  $s$ . Recall the following Laplace transform properties for derivatives:

$$\begin{aligned}\mathcal{L}\{x'(t)\} &= sX(s) - x(0) \\ \mathcal{L}\{x''(t)\} &= s^2X(s) - sx(0) - x'(0)\end{aligned}$$

where  $X(s) = \mathcal{L}\{x(t)\}$ .

Applying the Laplace transform to the entire differential equation:

$$M\mathcal{L}\{x''(t)\} + C\mathcal{L}\{x'(t)\} + K\mathcal{L}\{x(t)\} = 0$$

becomes

$$M(s^2 X(s) - sA - B) + C(sX(s) - A) + KX(s) = 0$$

---

### Step 2: Algebraic Manipulation in the $s$ -Domain

Now, rearrange to solve for  $X(s)$ :



$$M s^2 X(s) - M s A - M B + C s X(s) - C A + K X(s) = 0$$

Group terms involving  $X(s)$ :

$$(M s^2 + C s + K) X(s) = M s A + M B + C A$$

Expressed explicitly:

$$X(s) = \frac{M s A + M B + C A}{M s^2 + C s + K}$$

This algebraic expression encapsulates the entire solution in the Laplace domain.

---

### Step 3: Simplify and Prepare for Inverse Laplace Transform

The next step involves simplifying  $X(s)$  and then taking the inverse Laplace transform to find  $x(t)$ .

Polynomial in the denominator:

$$D(s) = M s^2 + C s + K$$

The nature of the roots of  $D(s)$  determines the form of the solution:

- Distinct real roots: overdamped system.
- Repeated roots: critically damped system.
- Complex conjugate roots: underdamped system.

Rewrite numerator:

$$N(s) = M s A + M B + C A$$

Expressed as:

$$X(s) = \frac{N(s)}{D(s)}$$

---

#### Step 4: Find the Roots of the Characteristic Equation

Solve the quadratic:

$$Ms^2 + Cs + K = 0$$

Using the quadratic formula:

$$s_{1,2} = \frac{-C \pm \sqrt{C^2 - 4MK}}{2M}$$

Define the discriminant:

$$\Delta = C^2 - 4MK$$

Based on  $(\Delta)$ , the roots are:

- $(\Delta > 0)$ : two distinct real roots.
- $(\Delta = 0)$ : repeated real root.
- $(\Delta < 0)$ : complex conjugate roots.

---

#### Step 5: Partial Fraction Decomposition

To find the inverse Laplace transform, decompose  $(X(s))$  into simpler fractions.

For distinct roots:

Express  $(X(s))$  as:

$$X(s) = \frac{A_1}{s - s_1} + \frac{A_2}{s - s_2}$$

where constants  $(A_1, A_2)$  are found by algebraic methods.

For repeated roots or complex roots:

Use appropriate methods, such as completing the square or specialized partial fractions.

---

#### Step 6: Compute Inverse Laplace Transform

Apply known inverse transforms:

- $\mathcal{L}^{-1}\left\{\frac{1}{s-a}\right\} = e^{at}$
- For complex roots, the inverse involves sinusoidal functions multiplied by exponentials.

General solutions:

- Distinct real roots:  $x(t) = C_1 e^{s_1 t} + C_2 e^{s_2 t}$
- Repeated root:  $x(t) = (C_1 + C_2 t) e^{s t}$
- Complex conjugate roots:  $x(t) = e^{\alpha t} (C_1 \cos \beta t + C_2 \sin \beta t)$

Constants  $(C_1, C_2)$  are determined from initial conditions.

---

### Step 7: Applying Initial Conditions

Use  $X(0) = A$  and  $X'(0) = B$  to solve for the constants  $(C_1, C_2)$ .

- At  $(t=0)$ :

$$x(0) = C_1 + C_2 = A$$

- Derivative  $(x'(t))$ :

$$x'(t) = s_1 C_1 e^{s_1 t} + s_2 C_2 e^{s_2 t}$$

or, in case of sinusoidal solutions:

$$x'(t) = \text{(expression involving)} \quad C_1, C_2$$

- At  $(t=0)$ :

$$x'(0) = s_1 C_1 + s_2 C_2 = B$$

Solve this system for  $(C_1)$  and  $(C_2)$ .

---

### Practical Example: Solving a Damped Oscillator

Suppose  $M = 1$ ,  $C = 3$ ,  $K = 2$ , with initial conditions  $(A = 0)$ ,  $(B = 1)$ .

#### Step 1: Characteristic Equation

$$s^2 + 3s + 2 = 0$$

Roots:

$$s_{1,2} = \frac{-3 \pm \sqrt{9 - 8}}{2} = \frac{-3 \pm 1}{2}$$

$$s_1 = -1$$

$$s_2 = -2$$

Step 2: Laplace Transform of the solution:

$$X(s) = \frac{1 \cdot s \cdot 0 + 1 \cdot 1 + 3 \cdot 0}{s^2 + 3s + 2} = \frac{1}{(s + 1)(s + 2)}$$

Step 3: Partial Fraction Decomposition

$$X(s) = \frac{A}{s + 1} + \frac{B}{s + 2}$$

Solve for  $(A, B)$ :

$$1 = A(s + 2) + B(s + 1)$$

At  $(s = -1)$ :

$$1 = A(1) + B(0) \Rightarrow A = 1$$

At  $(s = -2)$ :

$$1 = A(0) + B(-1) \Rightarrow B = -1$$

Step 4: Inverse Laplace Transform

$$x(t) = A e^{-t} + B e^{-2t} = e^{-t} - e^{-2t}$$

---

Final Remarks and Additional Tips

- System parameters matter: The nature of roots directly influences the form of

## Differential Equations using The Laplace Transform Solve $Mx'' + Cx' + Kx = 0$ $x(0) = A$ $x'(0) = B$ Where

Differential Equations using The Laplace Transform Solve  $Mx'' + Cx' + Kx = 0$   $x(0) = A$   $x'(0) = B$  Where

## Related Articles

- [Express Each Of These Statements Using Quantifiers. Then form The Negation Of The Statement So That No](#)
- [Evana Blanca Owns A Construction Firm That Builds Beautiful Concrete Walls With Reinforced Steel. Her](#)
- [Can Someone Help With This? The Last Person Who Answer Was Improper. What Makes The "prehistoric" Era](#)

[Back to Home](#)